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ZETS RAEE FHE-#LE RAEE 140 140

(F%0—F:4100) 2R REFEE FTHE-BitE RS FE 140 140

(REEZR R3-5% &t 420 420




RARBFER 3-5 P 2,000 HT R2EE Efé%ﬂﬂhﬂz R2EE 750 375 187 188
tFENn AREDRELTS (R#E) EREPMK (EERR) 750 375 187 188
‘fhi‘f;ﬁé@ﬁﬁ*ﬂﬁ RIEE EREBEHM R34EFE 500 250 125 125
RAFEE EREBI RAGEFE 750 375 187 188
(2%3—F:4100) 2R ROEE EREZE RSEE 750 375 187 188
(R %R R3-5% &t 2,000 1,000 499 501
E-FHIE 3-5 R ABEEHBE 4,800 T R2ZEE MBS R2EE 1,400 1,400
AREBA TRARAERNE (=48 WP (SRR 2,400 2,400
(MREHBREXE] RIEE #HhE RIFEE 1,600 1,600
RAEE 1#ENE RAEE 1,600 1,600
(2%3—F:4100) 2R REEEE MBS RSEE 1,600 1,600
(REE%) R3-54 &t 4,800 4,800
FECKELVSI— 35 FETCXERVI—EBER 38,912 iy} R2ZEE FFAHF R2EE 12,600 4,200 4,200 4,200
EEER (=48) FiEpE (AR 12,892 4,297 4,297 4,298
(MREHBREXE] RIEE ZiAHE RIFEE 13,112 4,347 4,347 4,418
RAFEE FitHF RAEE 12,900 4,300 4,300 4,300
(E%1—F:3180) 2R ROEE FiLHF RSEE 12,900 4,300 4,300 4,300
(fBtlkfR) R3-5% &t 38,912 12,947 12,947 13,018
2)REY—ERDFTEE (B FM)
- HREXE e Bt iR iR
¥R A RIEFR EHEROBE (3h4) FREM ¥R RAE # = 5 EEXHE BEXHE M A & S-E-E Tt —#REHR
REEEEEE 3-5 SIHEEIEABESZAGE. 429146 T R2ZEE BBAGE.HIFEEEE REE 150,662 21,571 10,708 11,911 912 105560
HEEHES (E4E) FRBAGE HETEESE (EERA) 151,051 21,751 13,209 11,911 912 103,268
RIEE BRBAGE HEEEEE REE 157,246 21,391 11,252 12,516 866 111,221
RAEE BRBAGE HEFEEEE REE 135,950 19,575 11,888 10,720 820 92,947
(E%0—KF:3200) 2R ROEE HBAGE HEFEEEE REE 135,950 19,575 11,888 10,720 820 92,947
(f8ftfR) R3-5% &t 429,146 60,541 35,028 33,956 2,506 297,115
WREERERSE -5 ZHFERBZ 25,453 BT REE EEETHEZFR R2EE 4,453 923 923 2,607
BREE (EfF) EEEEZRFH (EHERRA) 4,453 1,484 1,484 1,485
RIEE EEEERT RIFEE 4,453 1,484 1,484 1,485
RAEE EEEEERT RAEE 10,500 3,500 3,500 3,500
(E%0—K:3170) 2R REEE EEEERIT RSEE 10,500 3,500 3,500 3,500
(f8ftfR) R3-5% &t 25,453 8,484 8,484 8,485
MRRREIST 3 RINERR(IZEESFRED 4000 iy} R2EE R2EEE
BlEEE CERS (4 (EHERA)
(e EX] RIEE ITFRHEE-HRBAZ R3FE 4,000 1,332 1,332 1,336
E37ps ) RAEE RAFEE
(BF0—F:3170) 2R RS E RS
(ERERE] (131 fk) R3-54F &t 4,000 1,332 1,332 1,336
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BERETFELHE 3-5  FEILHEDRME 17,829 HT REE #HitLE. FTHE. RBEE R2EFE 2,690 1,645 132 913
(Efg) #HilE. FRE.EBE (EHERD) 2,690 1,554 132 1,004
RIEE #Htie. FTHE.KBFE RIFEE 5,829 3,916 165 1,748
RAEE Hrle. FTHE.®RBE RAFEE 6,000 3,700 150 2,150
(B%3—F:10202) HEHER REEE #Hite. THE. RHEE R5EEE 6,000 3,700 150 2,150
(HEHER) R3-54F &t 17,829 11,316 465 6,048

2 SEREINRDLTELEDED
(1 EENNIKYDHEHE (B FM)

- WExE - Bt iR H

FRA RBER EhERORR (3h4F) BREM R RAE # * 5 EEXHE EXHE h H & SEE oM  —HRENE
HEEURERE 35 HIHEEE 62,193 HT RVEE WhEF R2EE 19,885 19,885
(E#f) whEF (EERRA) 19,885 19,885
RIEE 1HBENEE RIEE 22,193 22193
RAEE #WBIEF RAEE 20,000 20,000
(F%0—F:3020) 2R RSEEE 1HBIESE RS FE 20,000 20,000
(1284iR) R3-5% &1 62,193 62,193
ZABHUEX 3-5 {fHBE.NEFE 35,166 i) R2EE BE. HE%E R2EE 11,613 690 10,923
(EfE) WHBE.REH (EHERR) 11,700 680 11,020
RIFE BE. HEHE RIEFE 11,566 674 10,892
RAEE HBIE. HESE RAEE 11,800 680 11,120
(E%3—F:3070) 2R REFE fBIE. EHE RS FE 11,800 680 11,120
(184fR) R3-5% &1 35,166 2,034 33,132
Z Y R—k 3-5 EEEEE 105,363 i) R2EE HIFEEESE R2EE 34,614 24 34,590
tUA—BEEE (RfE) HEEHES (EHERR) 34,959 24 34,935
(&t 42— RIFE HiITEEESE RIEFE 35,363 24 35,339
EHEE) RAEE HIFEEERESF RAEE 35,000 25 34975
(B%£3—R:-3161) 2R REFE HIFEEESE RSEFE 35,000 25 34,975
(184fR) R3-5% &t 105,363 74 105,289
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(2)NEY—ERADRE (B FM)

= - EEE EREXOHME RERR BEIRK 2 X KN B = S =1 E‘j R :
(3h4E) EEXHE BEXHE h H & S-A-E oM —HRENR
EERUY—ER 35 HEEREBEFRBSXM 21,327 HT R2EE RiT-wHMFE R2EE 7,718 1,071 75 6,572
=X (Efg) ZFit-#p%E (EERRL) 7,718 1,071 75 6,572
RIEE RiT-wHMFE RIFEE 5927 60 11 5,856
RAEE ZFit-tbE RAFEE 7,700 100 7,600
(%¥0—F:3080) 2R ROEE Rit-wHMFE RSEE 7,700 100 7,600
(f8ftfR) R3-5% &t 21,327 60 211 21,056
MEERBIL Y —E X 3-5 EABEZERHR 21,987 HT REE HEZFEH R2EFE 4,947 1,320 3,627
=X (EfR) HEZRTH (EERRL) 8,037 1,818 6,219
RIEE HEZRFEIH RIFEE 4947 1,320 3,627
RAEE HEZRFEM RAFEE 8,520 1,950 6,570
(E%¥0—F:3090) 2R REEE HEZRFEM RSEE 8,520 1,950 6,570
(f8ftfR) R3-5% &t 21,987 5,220 16,767
NEREEEEN 35 NEREREFRLES 614,561 HT R2EE RRHEE R2EFE 194,854 6,701 3,350 184,803
EHIE Jank (EfE) #BRUE=E (EERRL) 194,900 6,701 3,350 3,500 181,349
RIEE RRHEE RIFE 201,361 7,895 3,947 189,519
RAEE RS RAGEE 205,800 7,900 4,000 4100 189,800
(EF%1—KF:3100) 2R ROFEE #HE RSFE 207,400 8,000 4,000 4,400 191,000
(€] (I ERER) R3-54 &t 614,561 23,795 11,947 8,500 570,319

3 IRTHOANZZAESEDL

(1) Huigi FE Al D HEHE (B FM)

- HEXE i Bt iR H
FRA REER ShERORR (3h4) BREM R RAE # * 5 EEXHE EXHE h H & s-E-E T —#RERE
RIBHAEPRE 35 ([EFRAZOEIBCESERA 9,000 g R2ZEE BIRE R24EE 4,500 750 3,750
[(REHmKEE] DAL (=4 BimE (EHERRD) 3,000 300 2,700
RIEE BIpE RIEE 3,000 750 2,250
RAEE BIRE RAEE 3,000 450 2,550
(F%0—F:3171) fEEE RSEEE BIRE RSEE 3,000 450 2,550
CELIREY) R3-5%F &1 9,000 1,650 7,350

27




(2)EALETRHLDHEE (BfI F+M)

- wEE o R A
= - EEE SREXOHME (31@% EXEIHR E X RN B = E 3 7 EEEHS EXe W 5 seBE ZOW | —REE
ENANERUEERX 35 DLDEEFELEFYR—IEX 9,602 HT R2EE RiT-H5B%E R2EE 3,140 825 208 1,035 1,072
(EfE) F-BHBFE (EHERRQ) 3,140 825 208 1,035 1,072
RIEE RiT-HM%E RIFEE 2,662 690 208 1,035 729
RAFEE FRiT-HBFE RAEE 3,470 946 208 1,035 1,281
(E%1—KF:3130) 2R ROFEE FRiT-HB%E RSEE 3,470 946 208 1,035 1,281
(f8ftfR) R3-5% &t 9,602 2,582 624 3,105 3,291
WIHAFEXEREE 35 mEAERIERA—HDY 71,844 T R2ZEE RFE-HKBF R2EE 24,596 4,527 2,263 30 17,776
i (=4E) BR-HEBE (HERA) | 24566 4,527 2263 17,776
RIEE FRiT-H5B%E RIFEE 22,704 4,640 2,320 30 15,714
RAFEE FRiT-HBFE RAEE 24,570 4,527 2,263 17,780
(F%0—K:3147) 2R ROEE FRit-HB%E RSFE 24,570 4,527 2,263 17,780
(f8ftfR) R3-5% &t 71,844 13,694 6,846 30 51,274
HiXEEX 3-5 BIXEEERH 788,209 HT R2EE #A1T R2EFE 262,831 130,927 65,572 66,332
XH25.4~ EEEKRE (EfE) #aft (EERRL) 262,831 130,927 66,014 65,890
XEEITERIE RIEE #afT RIFEE 262,509 130,839 65,424 66,246
RAEE #aft RAEE 262,850 130,930 66,020 65,900
(EF%0—K:3145) 2R RSEE #afT RSFE 262,850 130,930 66,020 65,900
(f8ftfR) R3-5% &t 788,209 392,699 197,464 198,046
() BF-XFRUADFIEE (B FM)
- HREXE e Bt iR A H
FRa RESE SHERORR (o) TR R RR R OR sprme mzme o B BE  Zob | —MHE
fRILEREMHE -5 EHR.RF.BF.BEE 238,567 T R2EEE EEREMHB R24E £ 93,721 46,594 15,001 32,126
(MEBEREE] ~DEEEMHBI(H20~) (EfE) EREHD (RERR) 76,222 38,811 37,411
RIEE EREME RIFEE 89,867 44,681 15,001 30,185
RAEE EREME RAFEE 74,700 38,100 36,600
(E%¥0—F:3120) 2R ROEE EREME RSEE 74,000 37,700 36,300
(BR%Z) R3-5% &t 238,567 120,481 15,001 103,085
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(4) ERERERHEOH#HE

(B FFM)

- HREXE e Bt iR H

FRaE RESE SHEROBRR (o) TR R RR FOOR R pvme mzme moF & BB Zo | —MHE
EREBRAKREX 35 ERBERERIFHEHE 245,680 i) R2EE RHEE R2EE 83,893 14,150 41,237 28,506
FRISEHREE CEESNMEEE) (EfE) #HBH=E (EERRL) 83,893 14,150 41,237 28,506
RIEE #BRH&® RIEE 88,680 14,101 44,253 30,326
RAEE #BRHEE RAEE 79,500 13,300 38,800 27,400
(B%¥2—F:3040) 2R ROEE #RHE ROEE 77,500 12,900 37,600 27,000
(€] (BfRR) R3-5% &t 245,680 40,301 120,653 84,726

4 BTRAAETREDOY
(1) R OKYDHEHE (B FM)

- HEXE i Bt iR L

FRA RIEER ShERORR (3h4) BREM R A E # * 5 EEXHE EXHE h H & s-E-E T —#RERE
FOEEEMBEE 35 4018 ~ A (0T [ HETE = 87,763 iy} R2EE FHHEEEBA R2EE 26,620 26,620
LT, BRAO—HERK. F1= (EfE) FRHEEZEMA (EHERR) 29,791 876 1,000 27,915
d2ERATS RIEE FHHEEZBIMK RIEFE 33,163 689 2,000 30,474
RAEE FIHEEEBIAK RAEE 27,300 27,300
(EF%0—F:4050) 2R REEE FIHEEZBIMK RS FE 27,300 27,300
(REER) R3-5% &t 87,763 689 2,000 85,074
BERBENARZEE 35 EINZZORNBEHERENORIT 6,802 T R2EE Fit# R2EE 2,263 2,263
(EE) ZFFEH (EERRL) 2,270 2,270
RIFE Fit# RIEE 2,262 2,262
RAEE FRitH RAEE 2,270 2,270
(E%0—F:4070) fEEE ROFE Fit# RSEE 2,270 2,270
(REER) R3-5% &t 6,802 6,802
ZHEnEER 3-5 #HIIEHKEER 139,451 i) R2EE RBRHEE R2EEFE 47,489 29,377 18,112
HAlsitiRdE HAlREHREE (E#f) B (EERRA) 44,956 28,925 16,031
RIEE #BRHE RIEE 47,351 30,258 17,093
RAEE #HE RAEE 45,800 29,500 16,300
(B%2—F:3115) e S ROZEE #RHE ROEE 46,300 29,800 16,500
[#H£] (BR&Z) : R3-5% &t 139,451 89,558 49,893
BERHSHEER 35 BEERHITERES 371,730 T R2EE BiEE R2EEE 122,312 122,312
LEESaEE (EfE) aEE (EERR) 121,789 121,789
(BRERNERES) RIFEE HiEE RIEE 122,130 122,130
RAEE HGiEE RAEE 124,200 124,200
(EF%0—F:3162) fEEE RoEE HiE® RSEE 125,400 125,400
(BRR) R3-5% &1 371,730 371,730
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EEREEBEBER

(B%a—F:4070)

3-5

24BRMIE P BIKDEERE
MRk —ERZTEH,

2,288

f2mER
(FREER)

R2EE FRitH R2EE 990 990
(EfF) F5EM (EERRL) 759 379 380
RIEE FitH RIFEE 770 414 356
RA4EE Fit# RAEE 759 379 380
ROEE FitH RSEE 759 379 380

R3-5% &t 2,288 1,172 1,116
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FOE HLANFU. HBLEBZEFOLFDL
1 £ZFDZNZEBTCAIY
(2) NP ERBBFDREE (B FM)
- HEXE " Bt iR L
FRA RIBEE EHEROBE (3h4) BREM R A E # * 5 EEXHE EXHE h K & s-B-E TOMm | —HREHR
NEFERBEE 35 HKEREHFEHR 54,976 T R2EEFE JET ALT4& % R2EEFE 17,624 17,624
[ B EBRE %] (E#) JET ALT3E S (EERA) 13,944 13,944
RIFEE JET ALT4ZH R34EE 19,436 19,436
RAFEE JET ALT4EZ R RALFFE 17,960 17,960
(#%21—F:10050) ERBER RSEE JET ALT4Z % RS FE 17,580 17,580
(ERHBER) R3-54 &t 54,976 54,976
BEXIEERESX: 35 XEEERERE 108,477 i) RZEE AHEEHL R2FE 36,981 36,981
(EE) AHEEEH, (EERRL) 37,220 37,220
(E5%3—F:10060) RIEE AHEEH, RIEE 42,4717 42,477
(\B%1—F:10100) RAEE AHEEH RAFEE 33,000 33,000
(#%1—F:10150) ERBEER RSEE AHEEH RS FE 33,000 33,000
(ERHBER) R3-54F &t 108,477 108,477
EFEREATE 3  BFEREARE(-R) 443 iy} R2EFE ')—AK R2EE 483 483
(N4 A (=4) U—RHK (EHERRD) 484 484
(MEBEREE] RIEE —AK RIFEE 443 443
(3%20—F:10060) RAEE RAEE
(F%3—K:10100) FREEZF RSEE RS54
(ERHBER) R3-54 &t 443 443
ATLYMNEREBAEE  3-5 HILYMRREASZE(J—X) 1,761 ET R2EE J—AK R2EEE 1,171 1,171
(INEES - R EAR) (=) V—AK (EHERRA) 1,172 1,172
(HEHEEX] RIFEE —AK RIFEE 1,171 1,171
(F%3—F:10060) RAFEE ')—AHK RAFE 590 590
(B%0—F:10100) FRBEER R5FE RS E
(EREER) R3-5% &t 1,761 1,761
HEREEE 3 INERBERELZEICHED 1,285 HT R2ERE INERFEFAKREEBAE R2EE 3,933 3,933
BASEE BEREEEBAE (RfE) PMERBETAESEBAE (RERD) 4,828 4,828
RIEE HERLEMAIEEEEAE RIEE 1,285 1,285
(B%0—F:10120) RAFEE RAFEE
(B%0—F:10080) FREEZR ROEE R54F &
(ERHBER) R3-54F &t 1,285 1,285
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TAHAINR 3-5 RU—ILNREBITRE 19,067 R2EE #HIFEEREE R2EFE 6,302 6,302
EBITEX (RfE) HEFEERE (RERR) 5,647 5,647
RIEE HIFEHERE RIEE 6,347 6,347
RAFEE HIFEERE RAFEE 6,360 6,360
(B%1—F:10100) FREUEF ROFEE HIFEERE RSEE 6,360 6,360
(EREER) R3-5% &t 19,067 19,067
(4)FRBEREDFEE (B FM)
- HREXE e N H
I EhEXOBE (3h4E) ¥R AE ¥ % mmxme w5 & A — 1Rt
TORBIRIET 35 ORENRFHOXMKE 4108 REFE HHOKE RO 15,615 15,615
FREAAR) (=4E) HIKE (EHERA) 14,313 14,313
RIEE ABKE RIFEE 16,645 16,645
(F%3—K:10070) R4EE HBKE RAGEE 12,195 12,195
(E%Xa—F:10110)
(F%3—F:10160) FRYEE REEE HBKE RS 12,195 12,195
(FRHER) R3-54F &t 41,035 41,035
avEa—4-)—R  3-5 IMERIAVE1I—F-)—X 36,960 R2EEFE U—AKR (KA. REM. th7d%%  R2EFE 15,594 15,594
(INEER) (EfE) VAR EAREM . thTxi%E (EFERA) 14,716 14,716
RIFEE J—2REHE REM). thx%E%E  RIFE 12,980 12,980
RAFEE U—AKHE.RER). tha%E%E  R4AEE 11,990 11,990
(BB¥O—F:10060) 2REFER REEE J—2RL&HE. REM). thi%E%E RSFEE 11,990 11,990
(EREER) R3-5% &t 36,960 36,960
avEa—4&-)—X 35 HERIVEaA—EF-1)—X 18,175 R2EEFE U—RIC(HA. £6M). t57 %% R2ERE 6,070 6,070
(FPZER) () V—2RE@A £, thyrREs (EERA) 6,071 6,071
RIFEE J—2RRREHE £#A). th%E%  R3IFE 6,015 6,015
RAGERE U—R(HA E#M). th%kSE RAFEE 6,080 6,080
(B¥O—F:10100) 2T RSGERE U—R{t (BB, £5#MA) . t57i%ESE | RHEE 6,080 6,080
(EREER) R3-5% &t 18,175 18,175
RS HHE 3 HEYHMEREER 318,914 R2EE HHE-EBRXEMAEE REE 0 0
BEREX (E#) ERXILHAZE BREREDS (EHEEA) 28,216 18,481 9,735
(MREHBREXE] RIEE MEREHEMEBE RIFEE 318914 212,609 305
RAEE RALEE
(B%0—F:10168) FRBEER RS RS
(ERERE] (ERBER) R3-54F &t 318914 212,609 305
fas Y spmmsEmmgstEme 030% ROFFFE NERETERMRI  REE 0 0
wEMKERER HOE REZOREHILE () (EHERA)
P EEDBIEE RS, RI3E & RIEE
RAEE HNEERUET EERMERET RAEFE 3,960 3.960
(FHa—F: ) EREBEFZR RSEEE S\ BETE-TEEEE RSFE 59,570 19,500 29,300 10,770
(ERERE] (ERBER) R3-54E &t 63,530 19,500 29,300 14,730
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FENAFERE Y spmmemimmitmc 00 fr REE R
Bh S RESR AL HOE BREZOREMLE (E#) (EAERR)
Fh B REDEIEZ R 5, RI3E & R3%
RAGEE RAEE
(B\ERI—F: ) ERBEFZR ROFEE HERETEEMHE RSFE 3916 3,916
(ERERE] (ERBER) R3-5% &t 3,916 3,916
(5) B THEARHI D FEE (B FM)
- HREXE e Bt iR A H
¥R A RIEFR EHEROBE (3h4E) FREM ¥R RAE # = 5 EEXHE EXHE A & S-8-E oM —HRENR
BEFERMESE 35 EETIERERE 29,989 HT R2EE AHEEHL R2EE 10,000 10,000
(RfE) AHEEFH, (EERRL) 9,870 9,870
RIEE AHEEH RIEE 9,989 9,989
RAEE ANHEEH RAEE 10,000 10,000
(|B%1—F:10030) EREBEFZR REEE AHEEH ROEE 10,000 10,000
(EREER) R3-5% &t 29,989 29,989
(6)ZRHMBDIE (B FM)
- HREXE e Bt iR N H
¥R A RIEFR EHEROBE (3h4F) FREM ¥R RAE # = 5 EEXHE EXHE M A & S-B-E oM @ —HRENR
FIRIBBHRFEEX 35 %gﬁj&@%ﬁﬁigﬁ% 141,921 T R2EEFE AHME-RF - ABKES R2EEE 44,805 44,805
Ay Qe A (EHE) A##-Rep-RBKES (RERA) 43,860 43,860
9%, RIERE AHE-RF ABKES RIEE 47,307 47,307
RAEE ABE-RF LBKEZE RALEE 47,307 47307
(B%¥0—K:10380) FRYUEF REEERE AHME-RF ABKES RS & 47,307 47,307
#aBE5—) R3-54F &1 141,921 141,921
HWEEXE 3-5 EIE. P SO BARH 184,014 iy} R2EE %ﬁﬁﬁﬁﬁﬂ% szﬁrg 63,241 51,919 11,322
DIFELETL. FHEOKE (E#E) HKERHEMHE (EHERIA) 57,778 176 42,319 15,283
Lféz—;f%ﬁ%%ﬁé RiLT R34 fﬁﬁﬁﬁﬁﬁﬁ% R34EFE 61,338 50,758 10,580
RAFEE HBHEMHE RAEE 61,338 50,758 10,580
(#/%21—F:10400) EREBEFZR ROEE HEBHEMHE RSEE 61,338 50,758 10,580
#aBE5—) R3-54F &t 184,014 152,274 31,740
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2 SATHAIIIIZIHELEEEZEDEL

(WEEFEDHE (B FM)
= - EEE SREXOHME RERR EXEIHR E X RN B = S =1 E‘# R :
(3h%F) EEXHE BEXHE h H & o8- Tt —#REHR
SEFEHLEEE 35 hiSEEZTHEBEERIEH 3831 HT R2EE FitH. Bt . iE2m REE 1,246 1,246
(Bfg) TiEH.#e. BeRmt (EERRA) 1,195 1,195
RIFEE FTitH. Bt . B2RK REE 1,355 1,355
RAEE FitH. BlE.B8SRm RIEE 1,238 1,238
(#/%2—F:10190) HEHER RSEE Fit#. B£8R/ REE 1,238 1,238
(HEHER) R3-5% &t 3,831 3,831
(B)HEBEHRBZDBEEDTE (B FM)
= - EEE EREXOHME RERR EXEIHR E X RN B = S =1 E‘# R :
(3h4F) EEXHE BEXHE h H & S-E-E Tt —#REHR
REHESEER 3-5 HFEEE 64,091 B  REE HBEEE-HEBAEZ REE 21,693 600 26 21,067
(RfE) HBPEEE-FEBAZE (RERD) 22,400 200 65 22,135
RIEE HMEFEHE-PEBAZE RIFEE 21,491 600 26 20,865
(B%0—F:10330) RAEE HMIFEHE-EBAE RAGEFE 21,300 550 65 20,685
(|B%1—F:10335) HEHER REEE HIFEERE-HEBAE RSEE 21,300 550 65 20,685
(HEHER) R3-5% &t 64,091 1,700 156 62,235
NRENETSE 2 BRESILICLIARENER 0 iy} R2ZEE REREISR R2EE 5,000 5,000
ETHERIE, (=4) NERBEIE (EERD) 3,630 3,630
R3&EE R3&FE
R2ER5ET RAEE R4SEE
(FEFRI—F: ) HEHER RS & RS E
(HEHER) R3-54 &t
3 BEOREF - BEZOSLI-AEERR—YDESL (B FM)
- HREXE e Bt iR H
¥R A RIEFR EHEROBE (3h%F) FREM ¥R RAE # = 5 EEXHE BXHE M A & S-E-E Tt —#REHR
HERR—UHEE 3-5 HKLITVUAR=MHME 17,571 T R2EE HKBITVYUARKEHERE R2EEE 6,104 5,857 247
(EHE) HKOISYURSHERE (EERR) 4,731 4,548 183
RIFEE KOITVYUARKFEERE RIEE 5571 3,289 2,282
RAEE XDITVYUARFMERE  R4EE 6,000 5,860 140
(B%¥0—K:10350) HEHER REEE H(BITVUARKEEERE RSEE 6,000 5,860 140
(HEHER) R3-54F &t 17,571 15,009 2,562
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